
KASCO PARTS PRICING

KASCO PART # DESCRIPTION  List Price 

#10 BRACKET 120.62$      

#12138 U-BOLT 4.16$          

#1231162 U-BOLT 2.98$          

#12316 U-BOLTS 3.93$          

#148 KSC SUPPORT BRACKET 163.53$      

#2 COCKSCOMB BAND ASSM. 52.54$        

#4252 ADAPTER 117.09$      

#4750 ADAPTER 145.00$      

#4960 ADAPTER 110.00$      

#5141 ADAPTER 75.00$        

#5830 U-BOLT 4.88$          

#5843 U-BOLT 3.06$          

#58435 U-BOLT 4.73$          

#5845 U-BOLT 4.00$          

#7200 BRACKET 125.00$      

#9045 ADAPTER 65.00$        

12-BVAL BALL VALVE 90.00$        

CB-342 3/4 X 2 CARRIAGE BOLT 2.61$          

CB-343 CARRIAGE BOLTS - 3/4" 2.67$          

CC-16 HOSE CLAMP 3.78$          

DC-3640 CAUTION DECAL -$            

DC-3641 WARNING DECAL (MOVING PART HAZARD) -$            

DC-3642 DANGER DECAL (GUARD MISSING) -$            

DC-94359 SMV Sign 20.85$        

DK-20 BRACKET 125.98$      

DK-26 SPACER 10.25$        

DK-27 MAIN BRACKET 128.21$      

DMFD VALVE 130.00$      

DW-603 LIFTING ARM 41.63$        

DW-604 PIN 16.61$        

DW-947 TEETH FOR DIRT WORKER 12.00$        

FTS-900A MAIN FRAME 1,774.61$  

FTS-901 CHUTE, 72" 343.00$      

FTS-903L HOPPER SADDLE, LEFT HAND 37.63$        

FTS-903R HOPPER SADDLE, RIGHT HAND 37.63$        

FTS-909 DISK ANGLE PIN 21.70$        

FTS-910 DISK ANGLE PIN 19.50$        

FTS-911 SPACER, 3-1/8" 12.95$        

FW-114 FLATWASHER - 1-1/4" 0.45$          

FW-38 FLATWASHER 3/8 ZP 0.20$          

G-124 CHAIN TENSION BLOCK 7.38$          

G-200 CULTIPACKER SHAFT, 1-3/4" TGP X 79-1/2", KEYED ONE END 344.75$      

G-205 SEED HOPPER, 72" W/ SAFETY DECALS 764.75$      

G-206 BEARING, 1" 4 HOLE 16.50$        

G-207 LOCKING COLLAR, 1" 3.15$          

G-208 THREE TAB COLLAR 19.11$        

Effective November 1, 2014
 1-800-458-9129

www.kascomfg.com Prices subject to change without notice.



KASCO PARTS PRICING

G-211 CULTIPACKER PRESS WHEEL 27.09$        

G-212 TINES 10.07$        

G-230 TOP LINK CYLINDER 215.00$      

G-236 ENGAGEMENT HANDLE 3.75$          

G-237 SPRING LOCK ASSM 23.95$        

GDA-2199 TELESCOPING TUBE 409.17$      

GDA-2199-A FLEX HOSE FOR TELESCOPING TUBE 25.25$        

GDA-897-PF CUPPED PLASTIC FLIGHTING 708.75$      

GDA-897-RF RUBBER FLIGHTING 756.00$      

GDA-898 STIFFENER BAND 174.95$      

GDA-9011 SUPPORT BRACKET 283.16$      

GDA-9011-P PLATE 23.99$        

GDA-903 PIVOT BRACKET 321.45$      

GDA-9036 BRACKET 246.23$      

GDA-9036-P PLATE 23.99$        

GDA-905 PIVOT TUBE 44.65$        

GDA-905-A PIVOT TUBE - TALL 48.45$        

GDA-906 TRANSPORT BRACKET 109.39$      

GDA-908 TRANSPORT BAND 92.87$        

GDA-908A TRANSPORT BAND, NEW STYLE 192.87$      

GDA-909 RUBBER LATCH 5.79$          

GDA-910 6" FLEX HOSE 85.00$        

GDA-911 HANDLE FOR FLEX HOSE 19.75$        

GDA-913 6" X 5" STEEL TUBE 13.05$        

GDA-914-A STIFFENER, 8' 225.00$      

GDA-915 SUPPORT BRACKET 138.78$      

GDA-915-P PLATE 23.44$        

GDA-916 4" PLAIN BAND 19.99$        

GDA-917-P PLATE 25.33$        

GDA-919 MOUNTING BRACKET 273.40$      

GDA-920 TRANSPORT BRACKET 218.11$      

GDA-920-P PLATE 23.44$        

GDA-922 SUPPORT BRACKET 273.40$      

GDA-922-P PLATE 21.52$        

GDA-927 SUPPORT BRACKET 191.36$      

GDA-927-P PLATE 21.52$        

GDA-928 TRANSPORT BRACKET 198.29$      

GDA-930 PIVOT PIN, 1" X 5" 24.92$        

GDA-931 BUSHING, 5/8" 9.52$          

GDA-932 SUPPORT BAND, 4" 32.94$        

GDA-933 PLAIN BAND, 2" 17.74$        

GDA-935 SUPPORT BRACKET 248.22$      

GDA-935-P PLATE 23.86$        

GDA-938 TRANSPORT BRACKET 218.11$      

GDA-939 STIFFENER STRAP 25.42$        

GDA-940 DETENT PIN, 1/2" X 2" 4.28$          

GDA-941 VALVE BAND 79.19$        

Effective November 1, 2014
 1-800-458-9129

www.kascomfg.com Prices subject to change without notice.



KASCO PARTS PRICING

GDA-943 4" SPREAD STRAP, 1/2" THICK 10.63$        

GDA-996 PVC "T" FOR ROCK-N-ROLL 160.00$      

GDA-997 AUGER TUBE & HEAD ASSM. 650.00$   

GWA-120 STEEL FLIGHTING - 12' 252.00$      

GWA-121 RUBBER FLIGHTING -12' 630.00$      

GWA-121-PF CUPPED PLASTIC FLIGHTING, 12' 622.66$      

GWA-122 PVC TUBE - 129-1/2" 350.00$   

GWA-123 5" X 6" PVC 12.45$        

GWA-124 3" X 6" PVC 7.14$          

GWA-125 RING 14.38$        

GWA-127 HOPPER, 35" 470.57$      

GWA-128 HOPPER, 45" 478.06$      

GWA-129-L ANGLE HANGER, LH 39.68$        

GWA-129-R ANGLE HANGER, RH 39.68$        

GWA-130 HANGER 39.68$        

GWA-131 TRANSPORT BKT STRAP 13.52$        

GWA-132 TRANSPORT BRACKET STRAP 13.52$        

GWA-135 CABLE ROLLER ASSEMBLY 38.64$        

GWA-137 PVC "Y" - TOP 150.00$      

GWA-138-S STEEL TEE 287.09$      

GWA-139 SOLID END CAP 97.98$        

GWA-141 T-BAND 47.98$        

GWA-142-V BAND 52.14$        

GWA-143 VALVE 130.00$      

GWA-143-KIT FITTING KIT FOR VALVE 24.50$        

GWA-149 PIN 16.41$        

GWA-151 WINCH CLAMP 52.14$        

GWA-154 SPACER TUBE 13.05$        

GWA-157 RUBBER STRIP - 45" 19.12$        

GWA-213 14' STEEL FLIGHTING 294.00$      

GWA-214 RUBBER FLIGHTING - 14' 735.00$      

GWA-214-PF CUPPED PLASTIC FLIGHTING - 14' 769.50$      

GWA-242 14' TUBE & HEAD ASSM 565.00$   

GWA-301 TELESCOPING TUBE-2 SECTION 345.00$      

GWA-301-1 FLEX HOSE CONNECTOR FOR TELESCOPING TUBE 27.50$        

GWA-913 STEEL TUBE - 5" X 6" 12.44$        

GWA-TEE "T" for WAGON AUGER 160.00$      

H-209 STEEL FLIGHTING FOR KH-60-AC 276.50$      

H-209-RF RUBBER FLIGHTING FOR KH-60-AC 691.50$      

H-216 STEEL FLIGHTING FOR KH-67 345.00$      

H-216-RF RUBBER FLIGHTING (KH-67) 648.60$      

H-218 STEEL FLIGHTING FOR KH-6106 352.19$      

H-218-RF RUBBER FLIGHTING FOR KH-6106 648.60$      

H-219 STEEL FLIGHTING FOR KH-87 491.05$      

H-219-RF RUBBER FLIGHTING FOR KH-87 897.23$      

H-220 STEEL FLIGHTING FOR KH-387 639.70$      

H-220-RF RUBBER FLIGHTING FOR KH-387 1,136.36$  

Effective November 1, 2014
 1-800-458-9129

www.kascomfg.com Prices subject to change without notice.



KASCO PARTS PRICING

H-221 STEEL FLIGHTING FOR KH-7123 766.76$      

H-221-RF RUBBER FLIGHTING FOR KH-7123 1,400.18$  

H-226 STEEL FLIGHTING FOR KH-72 (12'6") 352.19$      

H-227 STEEL FLIGHTING FOR KH-5106 352.19$      

H-227-RF RUBBER FLIGHTING FOR KH-5106 643.20$      

H-228 STEEL FLIGHTING FOR KH-40-AC 197.20$      

H-228-RF RUBBER FLIGHTING FOR KH-40-AC 197.82$      

H-229 STEEL FLIGHTING FOR KH-8438 270.84$      

H-229-RF RUBBER FLIGHTING FOR KH-8438 513.77$      

H-230 STEEL FLIGHTING FOR KH-6108 566.00$      

H-232 STEEL FLIGHTING FOR KH-8838 639.69$      

H-232-RF RUBBER FLIGHTING FOR KH-8838 1,426.92$  

H-233 STEEL FLIGHTING FOR KH-8312 766.76$      

H-233-RF RUBBER FLIGHTING FOR KH-8312 1,400.18$  

H-234 STEEL FLIGHTING FOR KH-8630 345.00$      

H-234-RF RUBBER FLIGHTING FOR KH-8630 892.48$      

H-235 STEEL FLIGHTING FOR KH-8830 491.05$      

H-235-RF RUBBER FLIGHTING FOR KH-8830 897.23$      

H-236 STEEL FLIGHTING FOR KH-6-SK, DK, 2506 378.64$      

H-236-RF RUBBER FLIGHTING FOR KH-6-SK, DK, 2506 928.68$      

H-237 STEEL FLIGHTING FOR KH-8-SK, DK, 2508 524.69$      

H-237-RF RUBBER FLIGHTING FOR KH-8-SK, DK, 2508 985.13$      

H-238 STEEL FLIGHTING FOR KH-8-SWK, DWK 610.94$      

H-238-RF RUBBER FLIGHTING FOR KH-8-SWK, DWK 115.92$      

H-239 STEEL FLIGHTING FOR KH-1780 525.00$      

H-245 TUBE FOR KH-42, KH-62 410.00$      

H-257 TUBE FOR KH-47, 4-SK, 4-DK 400.00$      

H-267 TUBE FOR KH-67 450.00$      

H-268 TUBE FOR KH-367 495.00$      

H-269 TUBE FOR KH-87 525.00$      

H-270 TUBE FOR KH-387 660.00$      

H-271 TUBE FOR KH-7123 765.00$      

H-276 TUBE FOR KH-5106, KH-6106 395.00$      

H-277 TUBE FOR KH-8438 310.00$      

H-278 TUBE FOR KH-8630 330.00$      

H-279 TUBE FOR KH-8830 395.00$      

H-281 TUBE FOR KH-8838 685.00$      

H-282 TUBE FOR KH-8312 870.00$      

H-283 TUBE FOR KH-4-SK, 4-DK 395.00$      

H-284 TUBE FOR KH-6-SK, DK, 2506 410.00$      

H-285 TUBE FOR KH-8-SK, DK, 2508 550.00$      

H-286 TUBE FOR KH-8-SWK, DWK 660.00$      

H-380-1 TUBE, FILL END, FOR KH-3616 1,350.00$  

H-380-2 TUBE, CENTER, FOR KH-3616 1,240.00$  

H-380-3 TUBE, FAR END, FOR KH-3616 1,240.00$  

H-385-1 TUBE, FILL END, FOR KH-3612 1,150.00$  

H-385-2 TUBE, CENTER, FOR KH-3612 1,095.00$  

Effective November 1, 2014
 1-800-458-9129

www.kascomfg.com Prices subject to change without notice.



KASCO PARTS PRICING

H-385-3 TUBE, FAR END, FOR KH-3612 1,095.00$  

H-390 STEEL FLIGHTING, KH-3616 1,560.00$  

H-390-RF RUBBER FLIGHTING, KH-3616 2,850.00$  

H-395 STEEL FLIGHTING, KH-3612 1,400.00$  

H-395-RF RUBBER FLIGHTING, KH-3612 2,300.00$  

HG-500005 SEAL KIT FOR TRW (ROSS) MOTOR 49.95$        

HG-500007 SEAL KIT FOR TRW (ROSS) MOTOR 49.95$        

HHCS-12112 HEX HEAD CAP SCREW 1/2 X 1-1/2, WITH NUT & LOCKWAHER 2.48$          

HHCS-38214 HEX HD CPSC 3/8 x 2 1/4 G5 ZP 0.54$          

HHCS-38225 HEX HEAD CAP SCREW 0.94$          

HHCS-385 HEX HD CPSC 3/8 x 5 G5 ZP 0.66$          

HHCS-58512 HHCS - 5/8 X 5-1/2 3.74$          

HHCS-58612 HHCS - 5/8 X 6-1/2 4.44$          

HHCS-587 HEX HEAD CAP SCREW - 5/8 X 7 4.96$          

HHCS-589 HEX HEAD CAP SCREW 3.74$          

HHCS-7162 7/16 X 2 HEX HEAD CAP SCREW 1.43$          

HT-1 HARDWARE MOUNTING KIT 237.59$      

IN-15 MAIN BRACKET WITH STRAP 125.12$      

IN-18 SLIDE - 18" 41.11$        

IN-31 SLIDE - 31" 44.56$        

IN-45 SLIDE- 45" 53.98$        

J-35 SPACER 22.75$        

K-3 BOLT PACKET 106.51$      

K-47 BOLT & SPACER KIT 305.44$      

K-48 BOLT & SPACER KIT 339.28$      

K-8 BOLT PACKET 95.85$        

K-82 MOUNTING BRACKET 125.98$      

K-83 MOUNTING BRACKET 125.66$      

KA-901 TRANSPORT BRACKET 203.39$      

KA-902 MAIN BRACKET 240.60$      

KA-905 TRANSPORT YOKE 51.35$        

KA-906 SWING ARM 71.76$        

KA-908 TRANSPORT BAND 106.80$      

KA-910 TRANSPORT BRACKET 82.67$        

KA-911-PF CUPPED PLASTIC FLIGHTING FOR JD 1790 AUGER 695.00$      

KA-914 MAIN SUPPORT BRACKET 240.67$      

KA-916-PF CUPPED PLASTIC FLIGHTING FOR JD 1990 AUGER 750.00$      

KA-917 MOUNTING PLATE (MAIN & TRANS) 11.98$        

KA-920-KIT SWING ARM KIT FOR JD 1790 AUG. 476.10$      

KA-942 TUBE & HEAD ASSM. - KA-3300 625.00$      

KBC-20 DROP 38.50$        

KBC-21 BIRDCAGE, 21" 38.50$        

KBC-25 DROP - 25" 42.50$        

KBC-31 BIRDCAGE - 31" 57.95$        

KBC-45 BIRDCAGE = 45" 67.95$        

KBC-45-T 45" BIRDCAGE (TALL) 72.50$        

KBS-901 SPEAR 169.02$      

Effective November 1, 2014
 1-800-458-9129

www.kascomfg.com Prices subject to change without notice.



KASCO PARTS PRICING

KBS-901-1 SHORT SPEAR 196.86$      

KBS-902 SLEEVE 40.05$        

KBS-903 BALANCE SPIKE 13.97$        

KBS-905 SOCKET FOR BALANCE SPIKE 9.36$          

KBS-910 NUT FOR SPEAR 8.63$          

KBS-971 TUNBUCKLE 61.69$        

KD-2001 HOPPER HANDLE 64.75$        

KD-2002 OUTER DRIVE COLLAR 83.27$        

KD-2003 INNER DRIVE COLLAR 95.41$        

KD-2004L CULTIPACKER BEARING MOUNTING PLATE, LEFT HAND 33.25$        

KD-2004R CULTIPACKER BEARING MOUNTING PLATE, RIGHT HAND 33.25$        

KD-2006 SPRING ROD 21.80$        

KD-2007 SPRING ROD, 17" 21.88$        

KD-2008 HOPPER HANDLE MOUNTING PLATE 16.45$        

KD-2010 SPACER, 5/8"OD X 3/8"ID X 4-1/2" 7.25$          

KD-2014 STIFFENER, 2" 33.25$        

KD-2015 SPROCKET, 32T X 1" 39.24$        

KD-2032 SPROCKET, 12T X 1" 9.75$          

KD-2033 BUSHING, 2-9/16" X 1-1/16" OD X 13/16" ID 4.20$          

KD-2034L DISK SCRAPER, LEFT HAND 77.98$        

KD-2034R DISK SCRAPER, RIGHT HAND 77.98$        

KD-2035 HEX DRIVE COLLAR 28.74$        

KD-2036 LARGE IDLER, PLASTIC 5.85$          

KD-2038 METER GAUGE 17.15$        

KD-2039 RUBBER BUMPER 3.45$          

KD-2040 BUMPER ANGLE 11.20$        

KD-2041 CHAIN GUARD TAB MOUNT 21.63$        

KD-2042 CHAIN GUARD MOUNTING TAB, UPPER 12.95$        

KD-2043 CHAIN GUARD MOUNTING TAB, LOWER 12.95$        

KD-2045 SPOOL, 1-7/8" 28.35$        

KD-2048 SPOOL, 4-1/4" 28.35$        

KD-2050 LARGE IDLER BUSHING 8.10$          

KD-2052 HEX SHAFT, STAINLESS STEEL 150.64$      

KD-2053 DISK ANGLE HANDLE 19.71$        

KD-2054 DISK ANGLE LINKAGE 8.12$          

KD-2055 DISK ANGLE BRACKET 32.66$        

KD-2056 CHAIN GUARD W/ SAFETY DECAL, SS72 437.50$      

KD-2056A CHAIN GUARD W/ SAFETY DECAL, SS48 437.50$      

KD-2057L CULTIPACKER MOUNTING BRACKET, LEFT HAND 99.72$        

KD-2057R CULTIPACKER MOUNTING BRACKET, RIGHT HAND 99.72$        

KD-2058 HEX SHAFT, 5/8" 150.64$      

KD-2062 HEX SHAFT, 8' 174.00$      

KD-2064A DISK GANG 379.75$      

KD-2064B DISK GANG 379.75$      

KD-2065 LOWER 3-POINT LIFT PIN 9.60$          

KD-2066 CHUTE MOUNTING PLATE 16.63$        

KD-2067 DISK ADJUSTMENT PLATE 26.25$        

Effective November 1, 2014
 1-800-458-9129

www.kascomfg.com Prices subject to change without notice.



KASCO PARTS PRICING

KD-2068 DISK ADJUSTMENT HANDLE 54.71$        

KD-2069 DISK ADJUSTMENT BUSHING 8.10$          

KD-2070L CULTIPACKER MOUNTING BRACKET, LEFT HAND 99.72$        

KD-2070R CULTIPACKER MOUNTING BRACKET, RIGHT HAND 99.72$        

KD-2071 CULTIPACKER MOUNTING PLATE 18.03$        

KD-2075 OPENER DISK, 14" 65.07$        

KD-2075-1 AXLE FOR OPENER ASSM 32.50$        

KD-2075-2 HUB FOR OPENER ASSM 25.00$        

KD-2075-3 BEARING FOR OPENER ASSM 19.95$        

KD-2075-4 DUST SEAL FOR OPENER ASSM 3.50$          

KD-2088 HOPPER HANDLE MOUNTING PLATE 16.45$        

KD-2089 ADJUSTMENT ARM LOCK BRACKET 10.85$        

KD-2100 GEARBOX SPACER, 5/8"OD X 3/8"ID X 4-3/8" 8.75$          

KD-2101 TOP PIN 16.65$        

KD-2102 SPACER, 5/8" 7.70$          

KD-2103 DROP TUBE SPRING 2.85$          

KD-2104 CENTER DROP TUBE SPRING 2.85$          

KD-2105 SPROCKET, 32T X 1" 39.50$        

KD-2109 SHAFT, 1-1/4" 61.99$        

KD-2110L MAST ARM, LEFT HAND 55.86$        

KD-2110R MAST ARM, RIGHT HAND 55.86$        

KD-2111 MUDSCRAPER 13.85$        

KD-2113 MUSCRAPER MOUNT 149.45$      

KD-2114 SPOOL, 8" 40.22$        

KD-2115 TOP PIN 6.90$          

KD-2116 BOTTOM PIN 6.90$          

KD-2117 CULTIPACKER SHAFT, 1-3/4" MACHINED BOTH ENDS 273.00$      

KD-2118 DROP TUBE MOUNTING BAR 112.49$      

KD-2119 MEDIUM SPRING 5.70$          

KD-2120 CHAIN GUARD W/ SAFETY DECAL 387.49$      

KD-2121 AXLE STIFFENER 148.75$      

KD-2122L CULTIPACKER MOUNTING BRACKET, LEFT HAND 36.75$        

KD-2122R CULTIPACKER MOUNTING BRACKET, RIGHT HAND 36.75$        

KD-2123 CULTIPACKER MOUNTING PLATE 33.25$        

KD-2124 SHAFT, 1" X 74-1/2" CR 67.59$        

KD-2125 "T" HANDLE 13.80$        

KD-2126 DROP TUBE MOUNTING BAR 131.11$      

KD-2127 COIL TINE TUBE, 6' 44.10$        

KD-3001 CENTER ANGLE 104.13$      

KD-3002L DROP TUBE, LEFT HAND 64.75$        

KD-3002R DROP TUBE, RIGHT HAND 64.75$        

KD-3003L ANGLE, LEFT HAND 95.20$        

KD-3003R ANGLE, RIGHT HAND 95.20$        

KD-901 BEARING 36.00$        

KD-902 RETAINER RING 3.00$          

KE-12 EXTENSION 71.91$        

KE-18 HARROW EXTENSION 94.09$        

Effective November 1, 2014
 1-800-458-9129

www.kascomfg.com Prices subject to change without notice.



KASCO PARTS PRICING

KEC-1 END CAP 6.50$          

KEC-2 END CAP 6.75$          

KEC-932 SPACER - 4-1/4" LONG 59.95$        

KED-900 MAIN FRAME 2,140.53$  

KED-901 REAR FRAME 790.13$      

KED-902 HEX SHAFT, STAINLESS STEEL, 78-1/4" 97.48$        

KED-903 SHAFT, 1" X 70-3/4" CR 71.19$        

KED-904 PIVOT ARM 56.52$        

KED-905 BEARING, 1-3/4", 4 HOLE 24.60$        

KED-906 SPRING ROD 12.34$        

KED-907 OPENER ASSM (OLD STYLE - PRESSED) 76.31$        

KED-907-1 AXLE BOLT 32.50$        

KED-907-2 HUB FOR OPENER ASSM 24.95$        

KED-907-3 BEARING 17.45$        

KED-907-4 DUST SEAL FOR OPENER ASSM 3.25$          

KED-907-N OPENER ASSM (NEW STYLE - CAST) *** replaced with KD-2075*** 76.31$        

KED-908 RUBBER DROP HOSE 23.75$        

KED-908S RUBBER DROP HOSE, SHORT 22.50$        

KED-909 SPRING ROD 15.38$        

KED-910-L SEED TUBE MTG. BRACKET 22.00$        

KED-910-R SEED TUBE MTG. BRACKET 22.00$        

KED-911 OPENER ARM 373.42$      

KED-911CL CENTER DROP ARM, LEFT HAND 113.75$      

KED-911CR CENTER DROP ARM, RIGHT HAND 113.75$      

KED-912-L SEED PLACEMENT DEVICE 45.36$        

KED-912-R SEED PLACEMENT DEVICE 45.36$        

KED-913 COMPLETE SEED METER 92.50$        

KED-914 HANDLE ASSM - SEEDBOX 29.96$        

KED-915 HOPPER HANDLE ADJUSTMENT ARM 21.70$        

KED-916 HANDLE LINKAGE 11.90$        

KED-917 GEARBOX SHAFT 12.60$        

KED-918 GEARBOX SHAFT 47.85$        

KED-919 SHAFT 25.27$        

KED-920 SPROCKET, 16T X 1" 14.50$        

KED-921 SPROCKET, 20T 14.32$        

KED-922 SPROCKET, 24T 17.87$        

KED-923 GEARBOX CHAIN TENSION WELDMENT 30.44$        

KED-924 OUTSIDE TENSION SPRING 18.75$        

KED-925 CHAIN TENSIONER ARM (UPPER) 9.52$          

KED-926 T-HANDLE LOCK 13.13$        

KED-927 CHAIN TENSIONER ARM 14.70$        

KED-929 GEARBOX HOUSING 96.00$        

KED-930L HOPPER ANGLE BRACKET, LEFT HAND 10.85$        

KED-930R HOPPER MOUNTING ANGLE, RIGHT HAND 10.85$        

KED-931 UPPER CHAIN GUARD W/ SAFETY DECAL 357.00$      

KED-932 LOWER CHAIN GUARD W/ SAFETY DECAL 332.50$      

KED-939 CHAIN GUARD 93.16$        

Effective November 1, 2014
 1-800-458-9129

www.kascomfg.com Prices subject to change without notice.



KASCO PARTS PRICING

KED-940 SCALE MARKER 2.97$          

KED-961 MAIN FRAME 2,793.91$  

KED-962 REAR FRAME 624.68$      

KED-963 SEED HOPPER, 96" W/ SAFETY DECALS 1,294.93$  

KED-964 SHAFT, 1-3/4" TGP X 104", KEYWAY AT ONE END 402.71$      

KED-965 SHAFT, 1" X 94" CR 102.80$      

KED-966 SHAFT, 1-1/4" X 96", THREADED BOTH ENDS 180.25$      

KED-970-LH SEED DROP WITH EXT SPRING, LH 45.36$        

KED-970-RH SEED DROP WITH EXT SPRING, RH 45.36$        

KED-973-LH BRACKET 28.75$        

KED-973-RH BRACKET 28.75$        

KED-975 BEARING, 1-3/4", 2 HOLE 26.07$        

KI-36 LEFT END PROTECTION SHIELD 42.00$        

KJ-8 SMALL TUBE BRACE 28.31$        

KJ-9 LIMIT COLLAR 10.88$        

KK-002 3-POINT MAST 129.08$      

KK-003L 3-POINT MAST ARM, LEFT HAND 55.86$        

KK-003R 3-POINT MAST ARM, RIGHT HAND 55.86$        

KK-004 LIFT PIN 25.76$        

KK-005 STEP PIN 60.44$        

KK-006 SPOOL, 2-7/8" 40.39$        

KK-007 SPOOL, 3-1/16" 44.79$        

KK-008 SPOOL, 2" 36.94$        

KK-009 SPOOL, 3-15/16" 44.79$        

KK-011 COULTER WASHER 11.90$        

KK-054 SPOOL, 3-7/8" 43.70$        

KK-105 PARKING STAND 70.16$        

KK-200 STEP PIN 52.65$        

KK-202 AXLE, 8' X 1-1/2" 235.50$      

KK-203 SHAFT, 1-1/4" X 69", THREADED BOTH ENDS 180.25$      

KK-204 LASER CUT WASHER, 1-1/4" 4.31$          

KK-205 NOTCHED COULTER DISK, 16" 62.65$        

KK-206 BLADE, 22" 128.52$      

KK-207 BEARING, 1-1/4", 2 HOLE 26.52$        

KK-220 STEP PIN FOR CRIMPER 52.56$        

KKB-905 LEG 79.56$        

KLC-900 MAINFRAME - LANDSCAPERS CHOICE, 6' 1,290.70$  

KLC-901L CULTIPACKER WALKING ARM 118.60$      

KLC-901R CULTIPACKER WALKING ARM 118.60$      

KLC-902 PIVOT BAR PLATE 39.40$        

KLC-903 PIVOT BAR SPACER 63.70$        

KLC-904 STIFFENER 27.13$        

KLC-905 IDLER/BEARING BRACKET 59.68$        

KLC-906 IDLER/BEARING PLATE 33.80$        

KLC-907 IDLER ARM 12.48$        

KLC-908 CHUTE, 72" 310.98$      

KLC-909L CHUTE MOUNTING BRACKET 82.24$        

Effective November 1, 2014
 1-800-458-9129

www.kascomfg.com Prices subject to change without notice.



KASCO PARTS PRICING

KLC-909R CHUTE MOUNTING BRACKET 82.24$        

KLC-910 IDLER SPACER 8.32$          

KLC-911 SPRING ROD, 23-1/2" 19.28$        

KLC-912 REAR CULTIPACKER SHAFT SPACER 9.74$          

KLC-913 PIVOT BAR 25.22$        

KLC-914 CULTIPACKER SHAFT, REAR 238.62$      

KLC-915 CULTIPACKER SHAFT, RTON 227.70$      

KLC-916 MAIN CHAIN GUARD 205.36$      

KLC-917 SECONDARY CHAIN GUARD 211.44$      

KNS-104L CULTIPACKER SPRING ROD MOUNTING BRACKET, LEFT HAND 40.25$        

KNS-104R CULTIPACKER SPRING ROD MOUNTING BRACKET, RIGHT HAND 40.25$        

KNS-105 COMPRESSION SPRING 4.17$          

KNS-106 LOCKING COLLAR, 5/8" 34.34$        

KOS-901A DISK GANG MOUNTING BRACKET 412.41$      

KOS-901B DISK GANG MOUNTING BRACKET 412.41$      

KOS-906 SHAFT, 1-1/4" 27.65$        

KOS-907 SPOOL, 4" 31.50$        

KOS-908 SPOOL, 1" 26.25$        

KPCA-100 AXLE, 4' 274.50$      

KPCM-1 MODULE, CUPPED PLASTIC 15.00$        

KPCT-400 MAIN FRAME 1,209.22$  

KPCT-401 COIL TINE BAR 39.38$        

KPCT-402 CHUTE 195.48$      

KPCT-404 SHAFT, 1" CR X 28" 24.33$        

KPCT-405L CULTIPACKER MOUNTING BRACKET, LEFT HAND 36.75$        

KPCT-405R CULTIPACKER MOUNTING BRACKET, RIGHT HAND 36.75$        

KPCT-610L CENTER ANGLE, LEFT HAND 113.75$      

KPCT-610R CENTER ANGLE, RIGHT HAND 113.75$      

KPCT-900 MAIN FRAME 1,872.54$  

KPCT-902 CHUTE MOUNTING PLATE 18.20$        

KPCT-904AL COIL TINE MOUNTING BRACKET, LEFT HAND 54.25$        

KPCT-904AR COIL TINE MOUNTING BRACKET, RIGHT HAND 54.25$        

KPCT-904L COIL TINE BAR MOUNTING BRACKET LEFT HAND 54.25$        

KPCT-904R COIL TINE BAR MOUNTING BRACKET, RIGHT HAND 54.25$        

KPH-1 HOPPER WITH SCREEN 175.00$      

KPH-2 LID FOR HORIZONTAL HOPPER 26.40$        

KPH-3 SCREEN FOR HOPPER 39.50$        

KRM-1 RUBBER FLIGHTING MODULE 15.00$        

KRS- BC-9 HYDRAULIC MOTOR FOR AUGER 365.50$      

KRS-K-BC-9 HYDRAULIC MOTOR FOR KINZE AUGER 378.91$      

KS-10 HARROW TOOTH 8.90$          

KSS-2 SEAL KIT FOR WHITE MOTOR 58.50$        

KTL-003 FLEX HOSE FOR KINZE AUGER 29.04$        

KTL-007 LOCKNUT 3.25$          

KTL-014 CLAMP ASSEMBLY 106.80$      

KTL-015 SWING ARM 32.72$        

KTL-016 SWING ARM 34.29$        

Effective November 1, 2014
 1-800-458-9129

www.kascomfg.com Prices subject to change without notice.



KASCO PARTS PRICING

KTL-017 LOWER BRACKET 126.40$      

KTL-018 PLATE 6.36$          

KTL-023 JOINT 17.07$        

KTL-024 CLAMP BAND 38.28$        

KTL-047 BAND 60.55$        

KTL-1100 SHUT OFF 48.88$        

KV-10 COUPLER FOR HEX SHAFT 31.63$        

KV-10-M COUPLER FOR MOTOR 31.63$        

KV-11 COTTER PIN, MOTOR 0.91$          

KV-14-P HOPPER WITH SCREEN 195.00$      

KV-15 BAND 25.31$        

KV-16 BAND 29.76$        

KV-18 MOTOR MOUNT CASTING 80.25$        

KV-18-B BOTTOM CAP 86.70$        

KVDT-902 HEX SHAFT, 5/8" 89.88$        

KVS-400 MAIN FRAME 1,069.22$  

KVS-401 CHUTE, HOPPER MOUNT 195.44$      

KVS-408 SHAFT, 1-3/4" TGP" KEYWAY AT ONE END 234.50$      

KVS-905 SEED HOPPER, 40" W/ SAFETY DECALS 776.30$      

KY CENTER TOOTH 17.50$        

LN-38 LOCKNUT 3/8 CP CENTER 0.20$          

LW-114 LOCKWASHER, 1-1/4" 0.78$          

LW-58 LOCKWASHER, 5/8" 0.78$          

N-112 NUT 3.74$          

N-114 CASTLE NUT, 1-1/4" 17.70$        

N-34 NUT 3.25$          

N-58 NUT 3.15$          

RC-30 GEARBOX CHAIN 8.45$          

RC-39 UPPER CHAIN 10.22$        

RC-40106 ROLLER CHAIN 28.65$        

RC-4046 CHAIN FOR CULTIPACKER 34.50$        

RC-4075 ROLLER CHAIN 19.45$        

RC-4085 CHAIN 39.74$        

RC-46 LOWER CHAIN 11.67$        

RD-11-10 BAR LESS TEETH, 10' 184.87$      

RD-11-11 BAR LESS TEETH, 11' 201.01$      

RD-11-3 BAR LESS TEETH, 3' 77.72$        

RD-11-4 BAR LESS TEETH, 4' 80.88$        

RD-11-5 BAR LESS TEETH, 5' 101.53$      

RD-11-6 BAR LESS TEETH, 6' 121.68$      

RD-11-7 BAR LESS TEETH, 7' 129.32$      

RD-11-8 BAR LESS TEETH, 8' 150.66$      

RD-11-9 BAR LESS TEETH, 9' 159.92$      

RD-1A MAIN CHANNEL WELDMENT 79.49$        

RD-1J MAIN CHANNEL WELDMENT 88.78$        

RD-1S MAIN CHANNEL WELDMENT 83.32$        

RD-2L ANGLE HANGER, LEFT 38.26$        

Effective November 1, 2014
 1-800-458-9129

www.kascomfg.com Prices subject to change without notice.



KASCO PARTS PRICING

RD-2R ANGLE HANGER, RIGHT 38.26$        

RD-3 PLATE 24.54$        

RD-4 HARROW SPRING 31.63$        

RD-5 PIVOT BOLT WITH TAB 11.37$        

RD-9 CHAIN 6.50$          

RN-915 PLATE 59.11$        

RNR-001 MOUNTINGS ONLY 950.00$      

RNR-003 MOUNTINGS AND CARRIAGE ASSEMBLY 985.00$      

RNR-900 ROLL CARRIAGE 385.00$      

RNR-901 CROSS TUBE 140.00$      

RP-18112 ROLL PIN, 1/8" X 1-1/2" 0.90$          

RT-104 PIN 16.69$        

SB-045 SPRING FOR T-HANDLE LOCK 3.57$          

SG-011 LOCK COLLAR, 3/4" 2.55$          

SG-011 COLLAR 12.14$        

SG-012 BRASS INSERT 2.46$          

SG-012 BRASS COLLAR 27.50$        

SL-085 ROLLER CHAIN 32.81$        

SR-028 SPROCKET, 48T X 1" 12.24$        

SR-028 SPROCKET, 4048 X 1 12.24$        

SR-031 GEARBOX BEARING 9.57$          

SR-031 FLANGE BEARING, 1" 9.57$          

ST-005 COIL TINE 4.50$          

STS-1034 SELF-TAPPING SCREW 0.50$          

TN-14516 T-NUT 0.60$          

UH-002 HANDLE 34.50$        

UH-005 JIG LATCH ASSEMBLY WITH SPRING 52.50$        

UH-006-LH LEVER ASSEMBLY, LEFT HAND 72.50$        

UH-006-RH LEVER ASSEMBLY, RIGHT HAND 72.50$        

UH-110 PIN 22.76$        

UH-115 PIN 15.10$        

UH-1625 LOWER PIN, 6-1/4" X 1" 27.92$        

UH-1634 PIN, 1" X 6-3/4" 28.50$        

UH-915 PIN, 1" X 6-3/4" 14.50$        

UH-921316 PIN, 1-3/16" X 6" 22.44$        

V-231 STEEL FLIGHTING FOR VERTICAL AUGER 382.00$      

V-231-RF RUBBER FLIGHTING FOR VERTICAL AUGER 1,008.00$  

VS-903 TONGUE 794.50$      

VS-904 TOP LINK 48.62$        

VS-905 SEED HOPPER, 40" W/ SAFETY DECALS 776.30$      

VS-906 HEX SHAFT, 5/8" 89.88$        

VS-908 AXLE SLIDE 43.75$        

VS-918 WHEEL AND TIRE ASSM 72.63$        

VS-922 JACK MOUNTING BRACKET 61.25$        

VS-926 12-VOLT JACK 455.00$      

VS-928 CLEVIS 26.25$        

Effective November 1, 2014
 1-800-458-9129

www.kascomfg.com Prices subject to change without notice.


